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QUESTION 1
Which three statements about Oracle RAC background processes are correct?

A. ACMS (AtomicControlfile to Memory Service) is an agent that contributes to ensuring that a
distributed SGA memory updateis either globally committedon success or globally aborted if a
failure occurs

B. GTXO-j (Global Transaction Process) controls the flow of messages to remote instances,
manages global data block access,and transmits block images between the buffer caches or
different instances

C. LMON (Global Enqueue Service Monitor) monitors global enqueues and resources across the
cluster and performs global enqueue recovery operations

D. LMD (Global Enqueue Service Daemon) manages incoming remote resource requests withineach
instance

E. LMS (Global Cache Service Process) manages non-Cache Fusion resource requests such as
library and row cache requests

F. LCKO (Instance Enqueue Process) manages background slave process creation and
communication on remote instances

Answer: ACD

QUESTION 2

You are doing a RAC implementation for a customer. Your customer states that they have the
hardware to install additional network adapters on each RAC node. Identify three reasons for
which they might need additional adapters

Each server has at least two network adapters

Each server was accidentally ordered with only one network adapter

Each serveris using network-attached storage on one or two of their adapters
They want to use the Redundant Interconnect Usage feature

Eachserver has two network adapters and RAC requires at least three
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Answer: BCD

QUESTION 3

How many ASM Disk Group(s) do you need, if you want to have the redundancy level set to high
(triple mirroring) for a FILE?

A 1l
B. 2
C. 3
D. It depends on the number of different disks in a Disk Group, not the number of Disk Groups.

Answer: D

QUESTION 4
Which statement about the management of Oracle ADVM volumes by using ASMCA is incorrect?

A. Using ASMCA allows you to create and configure an Oracle ADVM volume
B. You can use ASMCA to enable or disable ADVM volumes.
C. When creating an Oracle ADVM volume for an ACFS file system that will store database files, you
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must create the volume using ASMCA to ensure correct column striping

D. You can use ASMCA to resizevolumes that have not been mounted on an Oracle ACFS file
system

E. You can use ASMCA to deleteOracle ADVM volumes

Answer: C

QUESTION 5
Which new syntax has been introduced in ASM release 12cR1?

Alter diskgroup DATA replace disk data_0001 with ‘/dev/disk02";
Alterdiskgroup DATAoffline quorum disk data_0001 drop after 1 m;
Alterdiskgroup DATA set ownership owner = oracle for file ‘/dev/disk02";
Alter diskgroup DATA drop disk ‘/dev/disk02' force;
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Answer: A

QUESTION 6

You are talking to the network admin team about the Interconnect network in Oracle RAC and
Clusterware. Which statement about the Private interconnect interface is incorrect?

A. Oracle RAC and Oracle ASM instances use the private interconnect for inter-instance
communication.

B. Oracle Clusterware uses the private interconnect to exchange Clusterware-related messages
among its nodes.

C. It supports both IPv4 and IPv6.
D. It supports redundant network interfaces for load balancing and high availability.

Answer: C

QUESTION 7
What device path do you have to specify in ASM, if you want to use the multipath device?

/dev/sdd = first path
/dev/sdd = second path
/dev/multipatha = path of the multipath O0S driver

Only /dev/sdc is enough, because asmlib knows it is a multipath device.
/dev/sdc as disk group and /dev/sdd as failure group.

You need to specify all the three devices and only then ASM will know this is a multipath device.
Only /dev/imultipatha is enough.
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Answer: D
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